RAM X-Grip® ASSEMBLY INSTRUCTIONS (SIDE A)

e ~g
N, SHHH O 2,

J vE C‘:_F b
IT & ???ﬂ%

PARTS INDEX:
A. RAM X-Grip® SUB ASSEMBLY (QTY. 1)
B. RAM CRADLE SLIDE SUPPORTS (QTY. 2)
C. ROUND RUBBER CAPS (QTY. 8)

D. THIN RUBBER CAPS (QTY. 2)

E. #8-32 X %" MACHINE SCREW (QTY. 2)
F. #8-32 NYLOCK NUT (QTY. 2)

G. #8 X V2" SHEET METAL SCREW (QTY. 4)
H. #8 X 5/8” SHEET METAL SCREW (QTY. 2)
RUBBER CAPS ATTACHING RAM X-Grip® TO RAM MOUNT
- ATTACH (C) ROUND CAPS TO EACH PRONG THAT FOR ATTACHING TO METAL OR ROUND BALL ADAPTERS, FOR ATTACHING TO COMPOSITE DIAMOND BALL
MAKES CONTACT WITH YOUR TABLET. USE (G) 2" SCREWS ALONG ANY OF THE HOLE ADAPTER (RAP-B-238U), USE (H) 5/8” SCREWS
PATTERNS. ALONG ANY OF THE HOLE PATTERNS.

- ATTACH (D) THIN CAPS TO HANDLE PRONGS
LOCATED BEHIND RAM X-GRIP®.

Ve
by

D>

ATTACHING SLIDE SUPPORTS (NOTREQUIRED) 2. POSITION SLIDE AT AN ANGLE (AS SHOWN)
1. POSITION (F) NUT AT BOTTOM OF SLOTTED HOLE ON INTO BOTTOM HOLE OF (A) X-Grip™ ASSEMBLY.
(B) SLIDE SUPPORT. PRESS SLIGHTLY AGAINST INTERNAL SPRING,
AND ANGLE (B) SLIDE SUPPORT BACK TO
PINCH (F) NUT AGAINST EDGE OF HOLDER.

DURING THIS STEP, USE CAUTION TO PREVENT
NUT FROM FALLING INSIDE OF X-Grip®
ASSEMBLY.

RAM Mounting Systems

8410 Dallas Ave S B J
Seattle, WA 98108
Phone: (206) 763-8361
Fax: (206) 763-9615
www.rammount.com
support@rammount.com

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

ARAM.

MOUNTS
RMR-INS-UN9

RAM X-Grip® ASSEMBLY INSTRUCTIONS (SIDE A)

§ w8
S

PARTS INDEX:
A. RAM X-Grip® SUB ASSEMBLY (QTY. 1)

D

B. RAM CRADLE SLIDE SUPPORTS (QTY. 2)
C. ROUND RUBBER CAPS (QTY. 8) B C J \-7
D. THIN RUBBER CAPS (QTY. 2) E F G H
E. #8-32 X 2" MACHINE SCREW (QTY. 2) W_
F. #8-32 NYLOCK NUT (QTY. 2) W- ®
G. #8 X 2" SHEET METAL SCREW (QTY. 4) @ @ ¥ ? ¥ ¥
H. #8 X 5/8” SHEET METAL SCREW (QTY. 2) ¥
RUBBER CAPS ATTACHING RAM X-Grip® TO RAM MOUNT
- ATTACH (C) ROUND CAPS TO EACH PRONG THAT FOR ATTACHING TO METAL OR ROUND BALL ADAPTERS, FOR ATTACHING TO COMPOSITE DIAMOND BALL
MAKES CONTACT WITH YOUR TABLET. USE (G) 2" SCREWS ALONG ANY OF THE HOLE ADAPTER (RAP-B-238U), USE (H) 5/8” SCREWS
PATTERNS. ALONG ANY OF THE HOLE PATTERNS.

- ATTACH (D) THIN CAPS TO HANDLE PRONGS
LOCATED BEHIND RAM X-GRIP®.

Ve
by

D>

ATTACHING SLIDE SUPPORTS (NOT REQUIRED) 2. POSITION SLIDE AT AN ANGLE (AS SHOWN)
1. POSITION (F) NUT AT BOTTOM OF SLOTTED HOLE ON INTO BOTTOM HOLE OF (A) X-Grip™ ASSEMBLY.
(B) SLIDE SUPPORT. ) PRESS SLIGHTLY AGAINST INTERNAL SPRING,
AND ANGLE (B) SLIDE SUPPORT BACK TO
PINCH (F) NUT AGAINST EDGE OF HOLDER.

DURING THIS STEP, USE CAUTION TO PREVENT
NUT FROM FALLING INSIDE OF X-Grip®
ASSEMBLY.

RAM Mounting Systems

8410 Dallas Ave S

Seattle, WA 98108 B J
Phone: (206) 763-8361
Fax: (206) 763-9615
www.rammount.com
support@rammount.com

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

ARAM

MOUNTS
RMR-INS-UN9



RAM X-Grip® ASSEMBLY INSTRUCTIONS (SIDE B)

3. WHILE HOLDING (B) SLIDE IN PLACE FROM STEP 2, INSERT (E) 4. ONCE (E) SCREW IS THREADED BY HAND INTO (F)
SCREW AT AN ANGLE TO LINE UP WITH (F) NUT. THREAD BY NUT, STRAIGHTEN (B) SUPPORT SLIDE AND FULLY
HAND UNTIL THE SCREW LOCKS IN WITH THE THREADS. TIGHTEN USING SCREWDRIVER.

Al

5. REPEAT STEPS 1 - 4 FOR SECOND SUPPORT SLIDE. POSITION TABLET
IN HOLDER AND ADJUST SLIDES AS NEEDED. WHEN ADJUSTING SUPPORT
SLIDES, DO NOT LOOSEN (E) SCREW BY MORE THAN THREE TURNS.

LIFETIME WARRANTY ON ALL MOUNTING COMPONENTS

The exclusive NPI Lifetime Warranty states that all RAM mounting components and parts are warranted

RAM Mounting Systems against defect in materials and workmanship for the life of the product or part. NPI's Lifetime Warranty

8410 Dallas Ave S covers the mount or its components only. The mounted device is not covered under the Lifetime

Seattle, WA 98108 Warranty and will not be replaced if damaged as a result of mount failure. This warranty is expressly

Phone: (206) 763-8361 limited to the persons in the United States, and all foreign countries who purchase RAM for resale or ® @

Fax: (206) 763-9615 use in the ordinary course of the buyer’s business. This warranty does not cover any product or part MOUNTS

www.rammount.com that has been abused, worn out, heated, ground or otherwise altered, used for a purpose other than that

support@rammount.com for which it was intended, or used in a manner inconsistent with any unstructions regarding its use. RMR-INS-UN9
. _____________________________ ____________ _______________________________________ ___________ |

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

RAM X-Grip® ASSEMBLY INSTRUCTIONS (SIDE B)

3. WHILE HOLDING (B) SLIDE IN PLACE FROM STEP 2, INSERT (E) 4. ONCE (E) SCREW IS THREADED BY HAND INTO (F)
SCREW AT AN ANGLE TO LINE UP WITH (F) NUT. THREAD BY NUT, STRAIGHTEN (B) SUPPORT SLIDE AND FULLY
HAND UNTIL THE SCREW LOCKS IN WITH THE THREADS. TIGHTEN USING SCREWDRIVER.

/

5. REPEAT STEPS 1 -4 FOR SECOND SUPPORT SLIDE. POSITION TABLET
IN HOLDER AND ADJUST SLIDES AS NEEDED. WHEN ADJUSTING SUPPORT
SLIDES, DO NOT LOOSEN (E) SCREW BY MORE THAN THREE TURNS.

LIFETIME WARRANTY ON ALL MOUNTING COMPONENTS

The exclusive NPI Lifetime Warranty states that all RAM mounting components and parts are warranted

RAM Mounting Systems against defect in materials and workmanship for the life of the product or part. NPI's Lifetime Warranty

8410 Dallas Ave S covers the mount or its components only. The mounted device is not covered under the Lifetime

Seattle, WA 98108 Warranty and will not be replaced if damaged as a result of mount failure. This warranty is expressly

Phone: (206) 763-8361 limited to the persons in the United States, and all foreign countries who purchase RAM for resale or ® @

Fax: (206) 763-9615 use in the ordinary course of the buyer’s business. This warranty does not cover any product or part MOUNTS

www.rammount.com that has been abused, worn out, heated, ground or otherwise altered, used for a purpose other than that

support@rammount.com for which it was intended, or used in a manner inconsistent with any unstructions regarding its use. RMR-INS-UN9
. _____________________________ ____ ____ ____ ______ __________________________________ ____________ |

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.



	Page 1
	Page 2

